
  



  



  



  



  

Pick peaks



  

Set 13,13 & 14,14 to 7.1623
Left-click;ctrl-v;Process

Pick other peak



  

Set 11,11 & 12,12 to 7.8803
Left-click;ctrl-v;Process



  

Fluorine supplies additional couplings 



  

2 groups of spins (13,14 &11,12 have identical shifts)
Each group has coupling from F8 (2 couplings)



  

Set 11&12 to group 1
Set 13&14 to group 2



  

Set 2 couplings



  

Supply coupling constants



  

Assumption: 13,14 will have 
larger coupling constants 
than 11,12



  

Processed



  

Optimize additional couplings



  



  



  

Processed



  

Expand



  

Get ROI …;Process



  

Linewidths look broad



  



  



  



  

Processed



  

Optimize H-H couplings 
in 2 groups 



  

Setup 2 groups



  



  



  

Processed



  



  

expand



  

Close but may 
need refinement Next 15 slides show 

attempts to refine. 
Watch RMSD



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  



  

Outer lines still not 
perfect fit, however 
RMSD is good.
Finish
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